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GED) HEMBEERUVRTEFEHERSE HER  SMIE0TAI5E
(bTHkh) \FmE NFHAFARATHT 7 B 4
INFHRRERMEAEH

rEmmRtE FHAE—
#H 5E B : S¥7407A15H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - FFIFE0IA1TH
SRE EEHh B K& EHEHE =iE g ZiE TR FEH=E
(kg) (kg) (kg)
KB L a5 10| 48t 40, 000 756 648 540 # 80, 000
AS a5 10| 48t 70, 000 2, 160 864 # 90, 000
=Ed a5 10/ 48t 600 756 540 # 500
=E3 it a4 10]  #Ext 2, 000 1,080 #H 2,000
KZE RIh 0.2 #Ext 600 86 #H 600
INAEE a5 0.2 #Axt 300 108 43 11 #H 400
INAEE KIh 0.2 #Ext 1,250 43 #H 2, 250
ErRy a5 10]  #Ext 35, 000 540 324  # 35, 000
F5hAE a5 0.2 #Ext 400 162 130 32 #H 500
= ks 5, Y 1,120 1,944 1,620 1,080 # 1,150
z KIh 5|  #E*t 2,000 1,296 #H 2, 500
=3 L AR, FKi 0.1 #8xt 1,000 65 #H 1,000
JOvyaly— AL12EF |HF 5 #Ext 1,000 792 # 500
JOyal)y— AL24F dtiE|EE 8  #E*t 2, 400 2, 851 # 2, 400
LA R a2¥F 10/ 48t 4,000 756 #H 4,000
FoT YA RIh 0.2 #+Axt 100 130 @) 100
B AS B 5, Y 500 1,512 1,296 1,080 # 500
HIE AS % 5| Xt 1,000 1,728 #H 1,000
¥ RIh 4 fBx*t 500 1,404 #H 500
< b 5 4 Y 1,200 1, 404 1,080 324  # 1,600
E—<> =5 0.15/ +) 3, 000 119 #H 3, 000
HEE KIh 5| Xt 1,000 1,728 #H 1,000
EiE R 10/ 48t 7,000 1,404 #H 10, 000
E¥ A4L, A3L o 100 &) 11, 000 4,212 864 A#H 10, 000
EA EE. K 20| #Ext 8, 000 4,104 #H 10, 000
EICAICL ks 11 Y 2, 000 2, 160 #H 3, 000
EME =2F 0.1] #Ext 3,000 76 #H 3, 000
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EGED HEMERUVRGEFEHEHREE HEH  SHTE0TAI15H
(HTHE) \FHEE NEHATARATHF 7 Eith 4
I\NFHRRFEH#KASH
rREmEELE HFHIE—
& & HBH : §MTE07A15H
I\EHRREETIBEGIEGEEIERVE2ZEDRTEICEY RDOESYRELET, ARFPEHR . SFMIE07A17H
3 Eih B Xe EFEHE SiE hiE ZiE| TR FEH=
(kg) (kg) (kg)
JFIAS A 8. B 0.1 #Bxt 1,000 76 #H 1,000
T4 A 8. B 0.1 £=& 50 70 # 30
e 267, 530




